

OFFICE OF THE SUPERINTENDING ENGINEER.

JAL SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR H.Q SOPORE

Member Secretary District Jal Jeevan Mission Baramulla/Bandipora

Emallisshydots@gmail.com

MTS. Mr. Mushtog Ahmad Lone So- Mohmad Ismail Lone

R/o- Gund Kewerhame(Kanihame)Budgem

GST No- 01 ACTPL 233081 Z8

Reed No: 51/AAY/CE/CID/PDC/2010-11.

Advertised Amount: ₹212.66 lac Allened Amount - 72,17.83,410.00 Major Hond:-4215-JJM Time of completion: 120days

(ORDER No: 06/SE/HYD/SPR/JJM of 2022-23)

Dated: - 23-11 -2022

Subject: Fixation of Contract for:

WSS Tantraypora Goom Ahmedpora Construction 0.70 Lac Gallon SR, Construction of chain link fencing around various structures . Construction of Retaining Wall at spots, Construction of Approach Road, Construction of Intake works, Construction of Sluice Chambers, Construction of Chowkidar Quarter, Construction of Spring Protection works , Construction of Generator Shed , Construction of Chemical Shed, Construction of Transformer bed, Providing and laying of sludge disposal, Construction of Pump Operator Quarter Construction of Collecting Sump near Spring Site at Goom, Repair of Old Pump Operator Quarter under JJM (Tender ID 2022_PHE_168462_2).

Reference

- 1. Executive Engineer FBI Division Tangmarg's e-NIT No 12 of 2022-23 dated: 05-05-2022 issued under endorsement No: FBID/CC/805-15 dated 05-05-2022.
- Revised District Action Plan of District Baramulla approved by DJJM vide no: DDCB/3929 dated: 30-07-2022.
- 3 Minutes of Meeting held with District Development Commissioner Baramulla (Chairperson DDJM) on 23/5/2022 minutes issued vide letter No DDCB/Meeting/2022/1214-44 Dated: 24/5/2022 and No DDCB/2022/ 1248-70 Dated. 26/5/2022 thereafter vide letter No. DDCB/ 2022/1725-28 Dated 04/06/2022.
- 4 Administrative Approval Accorded by Chief Engineer Jal Shakti (PHE) Department Kashmir vide Order No: CE/PHE/DB/JJM/257 of 09-2022 Dated: - 05-09-2022
- Technical Sanction issued by Chief Engineer Jal Shakti (PHE) Department Kashmir's Order No:-CE/PHE/DB/475 of 09/2022 Dated 08-09-2022.
- Minutes of Meeting of District Contract Committee circulated vide No: SE/Hyd/JJM/3022-33 dated:21-06-
- Amendment in operational guidelines for the implementation of Jal Jeevan Mission issued by NJJM, DDW&S ministry of Jal Shakti GOI vide F. No W-11016/10/2022-JJM-IV-DDWS Dated: - 21-06-2022.
- Modus operandi communicated by Chief Engineer PHE Kashmir Vide circular No CE/PHE/MC/DB/13745-83
- Executive Engineer FBI Division Tangmarg's Letter NO: FBID/7022 dated: 16-11-2022.
- 10 Your letter of acceptance No:-ML/03 dated: 30-07-2022.

For and on behalf of Lieutenant Governor of Union Territory of Jammu and Kashmir, the contract for above subject work is hereby fixed on the rates quoted and subsequently negotiated and accepted by you on Percentage rate basis as per the Annexure "A" of this allotment order with standard terms and conditions as laid down in the Annexure "B" of this allotment Order. The total cost of work shall be \$2,17,83,410.00 (Rupees Two Crore Seventeen Lac Eighty Three Thousand and Four Hundred Ten

No: - SE/HYD/JJM 10 703-17 Dated:-33 /11/2022

Superintending Engineer Hydraulic Çi‡cje Baramulla/Bandipora Copy to the:- Chief Engineer Kmr Jal Shakti (PHE) Department Srinagar for favour information. H.Q Sopore

2 District Development Commissioner Baramulla (Chairperson DJJM) for favour of information. Additional District Development Commissioner Baramulla (Member DJJM) for information.

Assistant Commissioner Development Baramulla (Member DJJM) for information. Divisional Forest officer Baramulla (Member DJJM) for information.

6 Chief Planning Officer Baramulla (Member DJJM) for information.

7 Chief Medical Officer Baramulia (Member DJJM) for information.

6 Chief Educational Officer Barassulla (Member DJJM) for information.

District Social Welfare Officer Baramulla/District Tribal Welfare Officer Baramulla (Member DJJM) 10. District information officer Baramulla (Member DJJM) for information.

11. Executive Engineer PBI Division Tangmarg (Member DJJM) for information.

12. Executive Engineer Int Shakri BUE Mash. Division Tangmarg (Member DJJM) for information and necessary action. 12 Executive Engineer Jai Shaku PHE Mech. Division North Sopore (Member DJJ 4) for information.

13 Executive Engineer Ground Water Division North Sopore (Member DJJ 4) for information. 13 Executive Engineer Ground Water Division Srinagar (Member DJJM) for ir formation

14. WAPCOS Limited Baramulla for information and necessary action.

Allotamit-) as Allot Shelly

marypore Goom Ahmadpore Construction 8.76 Lec Gallon SR, Construction of chain link fencing around various sines. Construction of Retaining Wall at spots, Construction of Approach Road, Construction of Intake works, Struction of Skiice Chambers. Construction of Chewkider Quarter, Construction of Spring Protection works. Construction of Generator Shed. Construction of Chemical Shed, Construction of Transformer bed, Providing and laying of studge disposal, Construction of Pump Operator Quarter Construction of Collecting Sump near Spring Site at Goom, Repair of Old Pump Operator Quarter (Tender ID 2022 PME 188493.)

Annexure "A" with Order No: SE/HYD/JIM of 2022-23 Dated :						
No	Item Description	Units	Quantity	Alloted Rates	Amount	
1	Earth work in bulk excavation by mechanical means (hydraulic excavatur) over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 m 2 on plan) including disposal of excavated earth lead upto 50 meters and lift upto 1.5 m, as directed by Engineer-in-Charge.		375.82	196.30	¢ 73,773.47	
	All kinds of rolls		161.07	393.48	1 63,370.47	
.05	Extra for every additional lift of 1.5 m or part thereof in excavation/banking excavated or stacked material: All kinds of soil:	cum	164.93	84.92	t 14,005.20	
2	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed:	cum	1261.47	453.44	₹ 5,72,000.96	
	All kinds of soils		97.83	1006.56	7 98,472.16	
2.0%	Ordinary rock	cum		161.72	₹ 4,04,300.00	
3,	Providing and laying S&S Centrifugally Cast (Spun)/ Ductile Iron	KL RM	480	3254.37	₹ 15,62.09 6.64	
5	Pipes conforming to IS: 8329 300 mm dia Ductile Iron Class K - 7 Pipes Providing push-on-joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber gasket	Joints	90	353.86	₹ 31,847.40	
6	Laying and fitting of G.I. pipes (all classes) complete including cost of pipe specials but excluding cost of pipes & Earth work.	RM	170	112.01	₹ 19,041.36	
7	Filling available excavated earth (excluding rock) In trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	Cum	832.61	206.65	₹ 1,72,057.19	
R	Providing and laying hand packed stone soiling 50 mm	Cum	129.91	1372.80	t 1,78,340.45	
y	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:4:8 (1 cement: 4 coarse sand: 8 graded stone aggregate 40 mm nominal size)	Cum	97.03	5056.31	₹ 4,90,613.6 0	
10	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and struttering. All work upto plinth level with: 1:3:6 mix (1 cement: 3 coarse sand: 6 graded stone aggregate 40 mm nominal size)	Cum	309.1	5643.81	₹17,44,501.5S	
11	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and sturtering. All work upto plinth level with 1:2:4 mtx (1 cement: 2 source sand: 4 graded stone augregate 20 mm nominal size)	Cum	483.98	6723.80	₹ 32,54,1 96 .09	
12	Making plinth protection 50mm thick of cement concrete 1:3:6 (1 cement: 3 coarse sand: 6 graded stone aggregate 20 mm ineminal size) over 75mm bed of dry brick ballast 40mm nominal size well rammed and consolidated and grouted with fine sand including finishing the top smooth and curing cumplete	Sqin	44.83	568.17	₹ 25,470.95	
13	Providing & laying damp-proof Course 40 mm thick with cement concrete 1:2:4 (1cement: 2 coarse sand: 4 graded stone agg 12.5 tum nominal size) and curing complete	Sqm	33.22	355.27	₹ 11,802.04	







Tantraypora Goom Ahmadpora Construction 0.70 Lac Gallon SR, Construction of chain link fencing around various sectures. Construction of Retaining Wall at spots, Construction of Approach Road, Construction of Intake works, restruction of Shake Chembers. Construction of Chowkidar Quarter, Construction of Spring Protection works, Construction Generator Shed. Construction of Chemical Shed, Construction of Transformer bed, Providing and laying of sludge disposal, postruction of Pump Operator Quarter Construction of Collecting Sump near Spring Site at Goom, Repair of Old Pump operator Quarter (Tender ID 2022 PHE 168403 1)

1	Annexure "A" with Order No: SE/HYD/JJ	(ea :-	2022		
1	Item Description	Units	Quantity	Alloted Rates	Amount
8	ement concrete flooring 1:2:4 (1cement: 2 coarse sand: 4 traded stone aggregate) finished with a floating coat of neat cement including cement slurry and curing complete, but excluding the cost of nosing of steps etc complete. 50 mm thick cement concrete flooring	Sqm	65.81	577.72	₹ 38,019.75
s	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level 1:1½:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size)	Cum	31.24	8112.79	1 2,53,443.57
16	Reinforced cement concrete work in walls (any thickness) including attached pilasters, buttresses, pilnth and string courses, fillets, columns, pillars, piers, abutments, posts and struts unto floor five level including curing but	Cum	55. 96	9784.46	₹ 5,47,538.40
17	Reinforced cement concrete work in arches, archribs, domes, vaults shells, folded plate and roofs having slope more than 15° upon floor five level level befording curing but excluding the cost	Cum	21.74	10820.70	t 2,35,241.92
11	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering shuttering, finishing and reinforcement, with: 1:1½:3 (1 cement: 1½ coarse sand: 3 graded stone aggregate 20 mm nominal size) Suspended floors/Beams	Cum	37.7	10243.32	₹ 3,86,173.12
1	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level 1:2-4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	Cum	9.06	7257.82	₹ 65,755.87
2	Centering and shuttering including strutting, propping etc. 20 and removal of form for Foundations, footings, bases for columns	Sqm	2106.57	272.79	1 5,74,655.44
20	0.01 Lintel, beams, plinth beams, girders, bressumers and cantilevers	Sqm	52.49	522.96	₹ 27,450.38
-	Walls (any thickness) including attached pilasters, buttressess plinth and string courses etc		626.83	596.80	1 3,74,094.65
21	Suspended floors, roofs, landings, balconies and access	Sqm	91.73	661.02	₹ 60,635.73
21	platforms.	-	*****		
20	platforms. BD4 Arches domes, vaults upto 6 m span	Sqm	143.05	2170.27	₹ 3,10,457,41 ₹ 1,20,369,40
21	platforms. D.04 Arches, domes, vaults upto 6 m span D.05 Extra for domes exceeding 6 mt span Extra for shuttering in circular work. 20% of respective	Sqm	114.77	1048.79	1,20,369.40
20	platforms. 0.04 Arches, domes, vaults upto 6 m span 0.05 Extra for domes exceeding 6 mt span Extra for shuttering in circular work. 20% of respective centring Foundations	Sqm Sqm	114.77 7.3	1048.79 54.56	₹1,20,369.40 ₹398.28
20	platforms. 0.04 Arches, domes, vaults upto 6 m span 0.05 Extra for domes exceeding 6 mt span Extra for shuttering in circular work. 20% of respective centring Foundations 1.01 Walls	Sqm Sqm Sqm	7.3 287.63	1048.79	₹1,20,369.40 ₹398.28 ₹34,331.75
21 21 2	platforms. 3.04 Arches, domes, vaults upto 6 m span 3.05 Extra for domes exceeding 6 mt span Extra for shuttering in circular work. 20% of respective centring Foundations 1.01 Walls 1.02 Beams	Sqm Sqm	114.77 7.3	1048.79 54.56 119.36	₹1,20,369.40 ₹398.28 ₹34,331.75 ₹2,143.11
20 21 22 2 2 2	platforms. D.04 Arches, domes, vaults upto 6 m span D.05 Extra for domes exceeding 6 mt span Extra for shuttering in circular work. 20% of respective centring Foundations 1.01 Walls 1.02 Beams 1.03 Edges of slabs Steel reinforcement for R.C.C. work including straightening cutting, bending, placing in position and binding all complete	Sqm Sqm Sqm Sqm RM Kg's	7.3 287.63 20.49	1048.79 54.56 119.36 104.59	₹1,20,369.40 ₹398.28 ₹34,331.75
20 21 21 2 2 2 2	platforms. 3.04 Arches domes, vaults upto 6 m span 3.05 Extra for domes exceeding 6 mt span 21 Extra for shuttering in circular work. 20% of respective centring Foundations 3.01 Walls 3.02 Beams 3.03 Edges of slabs 3.05 Steel reinforcement for RCC work including straightening cutting bending, placing in position and binding all complete above plinth level 3.05 Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all	Sqm Sqm Sqm Sqm RM Kg's	7.3 287.63 20.49 74.03	1048.79 54.56 119.36 104.59 251.99	₹1,20,369.40 ₹398.28 ₹34,331.75 ₹2,143.11 ₹18,654.97 ₹20,52,369.28 ₹11,55,704.88
20 20 20 20 20 20 20 20 20 20 20 20 20 2	platforms. 0.04 Arches, domes, vaults upto 6 m span 0.05 Extra for domes exceeding 6 mt span Extra for shuttering in circular work. 20% of respective centring Foundations 1.01 Walls 1.02 Beams 1.03 Edges of slabs Steel reinforcement for RCC work including straightening cutting bending placing in position and binding all complete above plinth level Structural steel work in single section, fixed with or without	Sqm Sqm Sqm Sqm RM Kg's	114.77 7.3 287.63 20.49 74.03 21655.13	1048.79 54.56 119.36 104.59 251.99 94.78	₹1,20,369,40 ₹398,28 ₹34,331,75 ₹2,143,11 ₹18,654,97 ₹20,52,369,28

Head Draftsman



GETTER OF TOFRINTENDINET BLA/BILL

Tantraypora Goom Ahmadpora Construction 6.70 Lac Gallon SR, Construction of chain link fencing around various setures. Construction of Retaining Wall at spots, Construction of Approach Road, Construction of Intake works, estruction of Sluice Chambers. Construction of Chambers, Construction of Construction of Spring Protection works, Construction Generator Shed. Construction of Chambers, Construction of Transformer Ised, Providing and laying of sludge disposal, enstruction of Pump Operator Quarter Construction of Collecting Sump near Spring Site at Goom, Repair of Old Pump operator Quarter (Tender ID 2022 PHE 168408.1)

perator Quarter (Tender ID 2022 PHE 168403_1) Annexure "A" with Order No: SE/HYD/JJM of 2022-23 Dated :2022						
	Annexure "A" with Order No: SE/HYD/JJ	M of 20	22-25 08			
s. No	Item Description	Unite	Quantity	Alloted Rates	Amount	
26	15mm Cement plaster on the rough side of single or half brick wall of 1:6 mix	Sqm	163.05	251.42	1 40,994.03	
27	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade on New work (two or more coats) over and including priming coat with water thinnable cement primer	Som	350	155.01	1 54,254.20	
28	Providing ridges or hips of width 60cm overall width plain G.S. sheets fixed with polymer coated J or L hooks, bolts and nuts 8mm dia G.I. limpet and bitumen washers complete. 0.63 mm thick with zinc coating not less than 275 gram/m2	RM	24.38	719.00	t 17,529.32	
29	Providing corrugated G. S. sheet roofing including vertical/curved surface fixed with polymer coated J or L hooks, bolts and nuts 8mm diameter with bitumen and G.I limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (upto any pitch inhorizontal/vertical or curved surface) excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required. 0.63 mm thick with zinc coating not less than 275 gram/m2	Sqm	287.13	1299.27	₹ 3,73,059.97	
30	Providing valleys of 90cm wide overall in plain G.S. sheets fixed	RM	48.76	719.00	₹ 35,05 8.64	
31		RM	48.62	1038.80	₹ 50,506.65	
32	P/F of 0.5 mm colour GS sheet soffit boarding incid. Supports etc complete iob.	Sqm	32.5	936.00	t 30,420.00	
33	transparent or dyed to required colour and shade with necessary screws etc. complete 150 mm long	NO.	24	69.00	₹ 1,656.10	
33.0		NO.	9	54.39	7 489.53	
34	transparent or dyed to required colour or shade with necessary screws etc. complete : 150 mm long	NO.	6	83.56	₹501.38	
34.0	P/F Almunium Aldrop 150mm	NO.	144	59.64	₹8,588.74	
36	P/F of Hardware Items Almunium Air Hooks	NO.	6	416.00	₹ 2,496.00	
36.0		NO.	6	46.80	₹ 3,369.60	
37	Providing and applying white cement based putty of specified thickness, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete 2mm thick	Sqm	321.16	179.30	₹ 4,992.00 ₹ 57,582.70	
38	Providing and fixing GI. pipes complete with GI. fittings and clamps, including cutting and making good the walls etc. 15mm Dia P/F PVC pipes cables with all PVC fittings including trenches and certified providing trenches and	RM	73.14	290.06	121,214.70	
39	along with bend and socket etc Applying priming cost With ready mixed pink as a social socket.	RM	45.72	780.00	₹35,661.60	
+0	wood) work Painting with synthetic enamel paint of sport of sport	Sqm	163.28	61.88	t 10,103.77	
41	work over an under coat of suitable shade with ordinary paint of approved brand and manufacture	Sqm	163.28	186.99	130,532.05	
	Providing & fixing White vitreous china water closel squatting pan(Indiantype) along with "5" or "P" trap including dismantling of old WC seat and "5" or "P" trap at site complete with all operations including all necessary materials, labour and disposal of dismantled material 1/c maiba, all complete as per the direction of Engineer-in charge. Long pattern W.C. Pan of size 580x440 mm	No.	3	3098.58	19,295.73	





-

Construction of Retaining Wall at spots, Construction of Approach Road, Construction of Intake works, Construction of Sluice Chambers. Construction of Chowkidar Quarter, Construction of Spring Protection works, Construction of Chowkidar Quarter, Construction of Spring Protection works, Construction of Spring Protection works, Construction of Chemical Shed, Construction of Transformer bed, Providing and laying of studge disposal, works of Pump Operator Quarter Construction of Collecting Sump near Spring Site at Goom, Repair of Old Pump

	Annexure "A" with Order No: SE/HYD/IJM of 2022-23 Dated :-						
No	Item Description	Unit	Quan	tity Alloted R	Amount		
43	Providing and placing on terrace (at all floor leve polyethylene water storage tank iSi: 12701 marked, with country and suitable locking arrangement and making necessary hofor inlet, outlet and overflow pipes but without fittings and the base support for tank	ver	3000	0 11.70	₹ 35,100.00		
44	Providing and fixing 1st quality ceramic glazed wall till conforming to 1S: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades exce burgundy, bottle green, black of any size as approved 18 Engineer- in-Charge, in skirting, risers of steps and dados over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coars sand) and jointing with grey cement slurry @ 3.3 kg per sqr including pointing in white cement mixed with pigment of matching shade complete.	pt by er Sqm	50.78	1207.49	₹ 61,316.44		
45	cement mortar 1:4 (1cement :4 coarse sand) including grouting the joints with white cement and matching pigments etc.	of k Sqm	8.37	1299.27	₹ 10,874.91		
46	Providing and laying Polished Granite stone flooring in required design and patterns, in linear as well as curvilinear portions of the building all complete as per the architectural drawings with 18 mm thick stone slab over 20 mm (average) thick base of cement mortar 1:4 (1 cement : 4 coarse sand) laid and delicated	Sqm	2.78	3719.72	₹ 10,340.81		
47	P/F of Stainless steel sink						
	Brick work with common burnt clay (non-modular) betales of	NO.	2	3640.00	₹ 7,280.00		
48	in : in 1:6 mix	cum	51.38	6431.10	₹ 3,30,429.92		
49	Extra for brick work with common burnt clay bricks/cement concrete bricks in superstructure above plinth level upto floor five level	Cum	49.76	1376.60	₹ 68,499.42		
50	P/L of Anchor bolts 16 mm dia 9 inch long	NO.	60	260.00	5-5-50-50-VISPO		
51	Providing hoisting and fixing trusses/purlins /rafters/posts/ post-plates or like components including cost of screws etc.	C			15,600.00		
_	Providing wood work in frames of doors windows electrons	Cum	7.58	144232.82	₹ 10,93,284.75		
52	position with hold fast lugs or with dash fasteners of required dia and length (hold fast lugs or with dash fasteners shall be paid for separately): [2nd class Kall wood]	Cum	1.68	95747.96	₹ 1,60,856,58		
53	Providing and fixing panelling or panelling and glazing in panelled or panelled and glazed shutters for doors, windows and clerestory windows (Area of opening for panel inserts excluding portion inside grooves or rebates to be measured). Panelling for panelled or panelled and glazed shutters 25 mm to 40mm thick Second Class kall wood	Sqm	8.11	2308.07	₹ 18,718.46		
54	Providing and fixing panelled or panelled and glazed shutters for doors, windows and clerestory windows fixing with butt hinges of required size with necessary screws, excluding panelling which will be paid for separately, all complete as per direction of Engineer-in-charge. (Note: -Butt hinges and necessary screws shall be paid separately) 35 mm Thick: (1st class Kail wood)	Sqm	13.17	3217.55	₹ 42,375.16		

Head Draftsman



Superintending Engineed

Tantraypora Goom Ahmadpora Construction 0,70 Lac Gallon SR, Construction of chain link fencing around various tures. Construction of Retaining Wall at spots, Construction of Approach Road, Construction of Intake works, Struction of Sluice Chambers. Construction of Chowkidar Quarter, Construction of Spring Protection works, Construction of Construction of Construction of Transformer bed, Providing and laying of sludge disposal, perstor Quarter (Tender ID 2022 PHE 168403 1)

	Annexure "A" with Order No: SE/HYD/JJM of 2022-23 Dated :-					
No	Item Description	Units	Quantity	Alloted Rates	Amount	
55	Providing and fixing wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws as per direction of Engineer-in-charge 30mm thick 2nd class kall wood	Sqm	8.11	3085.00	₹ 25,019.38	
56	Providing and fixing panelling or panelling and glazing in panelled or panelled and glazed shutters for doors, windows and clerestory windows (Area of opening for panel inserts excluding portion inside grooves or rebates to be measured). Panelling for panelled or panelled and glazed shutters 25 mm to 40 mm thick. 2nd Class Kail wood	Sqm	22.27	2601.82	₹ 57,942.53	
57	P/F of 3.5 mm glass pans floating glass incl. beedings complete job	Sqm	16.89	707.20	₹ 11,944.61	
58	per the direction of Engineer-Incharge Made of G.I. wire of dia 4	Sqm	455	762.84	₹ 3,47,092.20	
59	complete job.	NO.	3	5200.00	₹ 15,600.00	
60	manufacturer's specification. (1 kg of water proofing material in 50 kg of cement)	Kg's	833.07	60.22	₹ 50,164.14	
6	jexceed 90cm including all carriages up to site of work	Cum	36.97	1352.00	₹ 49,983.44	
6	Laying water bound macadam sub-base with brick aggregate and binding material, earth etc. including screening, sorting, spreading to template and consolidation with light power road roller etc. complete (payment for brick aggregate and moorum etc. to be made separately): 90 to 45 mm size and 63 to 45 mm size	Cum	110.3	597.58	₹ 65,913.52	
6	Supply stacking of stone screening chippings 13.2 mm size for 90 45	Cum	12.68	524.58	₹ 6,651.62	
_	Supply stacking of stone screening chppings 11.20 mm size 63- 45 mm	Cum	8.83	524.58	₹ 4,632.01	
	5 Supply and stacking of moorum 6 Providing and applying tack cost on WRM 60.77 Viv. 6	Cum	8.83	549.64	₹ 4,853.32	
_	Providing and applying tack coat on WBM @ 0.75 Kg per Sqm	Sqm	367.5	57.67	₹21,192,99	
6	Providing and laying Bitumen Penetration Macadam with hard stone aggregate of quality, size and grading as specified, with bitumen of suitable penetration grade including required key aggregate as specified, spreading coarse aggregate with the help of self propelled/ tipper tall mounted aggregate spreader and applying bitumen by a pressure distributor and then spreading key aggregate with the help of aggregate spreader complete, including consolidation with road roller of minimum 8 to 10 tonne capacity to achieve specified values of compaction and surface accuracy. For 50 mm compacted thickness using coarse aggregate of size 50-20mm graded \$0.60 cum per 10 sqm key aggregate of size 50-20mm graded \$0.15 cum per 10 sqm. With paving asphalt grade VG-10 \$0 kg/10sqm	Sqm	367.5	397.07	₹ 1.45,923.96	

Head Draftsman

Technical Officer

Superficiending Enginee.

205

OFFICE OF THE SUPERINTENDING ENGINEER, JAL SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR H.Q. SOPORE Member Secretary District Jal Jeevan Mission Baramulla/Bandipora

Annexure "B" with ORDER No:

/SE/HYD/SPR/JJM of 2022-23

Dated:-

-202

Terms and Conditions

- The work is executed strictly as per approved design / drawing, specifications and IJM.
 Guidelines. Any deviation or change in proposal/location is subject to the prior approval
 from the competent authority.
- 2 The Executive Engineer will draw the formal agreement with the contractor within 07 Days from the date of issuance of this allotment order.
- The rates allotted are inclusive of all taxes applicable as per norms amended by competent authorities from time to time. Labour cess and royalties shall have to be borne by the executing agency/contractor.
- The execution of work shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department.
- 5. The executing agency/contractor shall be bound for satisfactory performance of the work for 18 months after the successful Commissioning of subject work and will have to make a trial run of the work for a period of 03 months to the best satisfaction of the department.
- The Defective Liability Period shall be for a period of 12 Months which shall commence after the successful completion of the Trial Run.
- 7. No liability should be created on this account.
- The total cost of work shall in no case exceed beyond of ₹2,17,83,410.00 (Rupees Two Crore Seventeen Lac Eighty Three Thousand and Four Hundred Ten Only)
- 9. In case the contractor fails to execute the work, the work shall be put to fresh tenders on the risk and cost of the contractor & the excess cost if involved shall be recovered from the contractor and strict action as warranted under contractual obligation shall be taken against the defaulter.
- The time of completion of the work is reckoned 120-Days (One Hundred Twenty Days) as per the condition laid down in the e-NIT.
- 11. The bidder shall furnish a performance security equivalent to 03% of the value of the contract within one week of the issuance of allotment order in the shape of CDR/FDR/Bank Guarantee, valid for a period of 24 Months, which shall be released after successful fulfilment of the laid down conditions in SDB/e-Nit.
- Geo Tagged Photographic evidences of the work; pre-execution, during execution and post execution should be maintained by the agency on his own expenses.
- 13. The executing agency/contractor must execute the work as per the requirements/specifications detailed in the relevant/applicable IS codes.
- 14. The tests for concrete and affied materials shall have to be carried out at reputed institute as per directions of Engineer in-charge and the charges for the same shall have to be borne by the executing agency/contractor.
- 15. All Environmental norms, labour laws and all other guidelines issued by competent authorities shall be followed in letter and spirit
- All other terms & conditions as laid down in the standard bidding document, PWD form-25, GFR-2017 and manual of procurement of works 2019 shall remain in force.

Head Draffsman

Technical officer

Superintending Engineer lydraulic Circle Baramulla/Bandipora

H.Q Sopore.